Topic 2 — Quadratic Functions (Ch.7)

Pre- AP Foundations 20
7.5 Solving Quadratic Equations by Factoring

To solve an equation like ax’+ bx + ¢ =y means to find the values of the variable that causes the left side of the
equation to equal the right side. If y=0, then we’re really just solving for the X-int “CC() Tﬁ

Remember: Zeros/ roots are just asking for the x intercepts.

Example 1 Solve the by factoring 2x* — 14x — 60 = 0 and verify the solutions
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Example 2 Determine the roots of the following equations.

a) 75p° -192 =0 c) 0=—22x-7)(4x~-1)
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Example 3 a) Mrs. Hock claimed that she solved a quadratic equation by graphing. She found the zeros were
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= and 5. Find AN _equation that she might have solved. (Remember that many parabolas have the same x-intercepts.
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b) Find THE equatlon ation of the parabola that has the same x- intercepts as question (a) but passes through the point
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Example 4 Suppose your best friend solved the quadratic equation as shown:
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Is this solution correct? If not, identify the error. Then, solve the quadratic correctly.
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Assignment: page 405 #2, 4ad, 6(ad), 7,10, 11



